Balanced Reaction Equation

CeHaall) + 19/2 Oz(g) — 6 COz(g) + 7 H:0(g) AH? = -41562.9 KI/mol CzHy4(l)

AHT =-4162.9 KI/mol x 1 mol CH, (1)

=-4162.9kJ
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Species CeHya(l) 0:(g COz(g) H.O(g)
Coefficient 1 19/2 5] 7
(mol)
AH O ? 0 -393.5 -241.8
{k3/meol)
= [(1 mol x AH_"(hexane]) =[(6 mol x =393.5 K)/maol) -4162.9 kKJ
3n AH° + (19/2 mol % 0 ki/mal)] + (7 mol x —241.8 kJ/mol]]
=1 mol x AH- % (hexane) = -4053.6 kJ

—-4053.6 kK1 — (1 mol = AH P (hexane)) = —4162.9 kI
AH_B(hexane) = +109.3 kKJ/mol

The standard molar enthalpy of formation for hexane is +109.3 k1/mol.




